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PAPER-3

Aptitude Test for Architecture & Design

Mathematics & Aesthetic Sensitivity — Part A : Q. 1 to 100
Drawing Aptitude — PartB : Q. 1&2

PART-A / 9TT-A
MATHEMATICS & AESTHETIC SENSITIVITY / Tfura 3R weafesw wfadifeadt

001.  Thedistancebetweenthe pointsofintersection | g1, ¥@r y= ljx—% 3 I
of the line y = %x— % and the parabola =—%(x— D(x—2) e gﬁ-c—@—q'%gaﬁ
y== g G- D=2 is a0 2
(A) V5 (B) 25 (A) /5 (B) 25
(C) 3/5 (D) 45 ©) 35 (D) 45
002. If f(x)= xl 1> then the domain of 002. fe f(x):xl—l’ qq (f - f) (x) 1 IQ
(f /) (x) is (domain) 2
(A) {xeRIx#1} A) {xeR|x#1}
B) {xeRlx#1,2} B) {xeR|x#1,2}
©) {xeR|x#0,1} ©) {xeR|x#0,1}
D) {xeR|x#2} D) {xeR|x#2}
3-AA | [2] [ Contd...
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003. If x=2+./3 then the value of \/E—} 003. AR x=2+,3 @@ J/x - fﬁlﬂrﬂqél
X
is
(A) 26 B) V6
W26 B /s ®
(€) 2v2 D) V2 (€) 2v2 D) V2
1= . .
004. Let z;=1+ 2i, ZZZT,Z3:—2+Z,The 004. Wﬁ;zl:1+2i322:12—l’z3:—2+i
YAV
real part of =2 s
P 4z,— z3 W 4 122 1 aAfde 9T (real part) 21
) o ® 5 5
i@ wh w4
©) 39 ) ) 11 13
>0 >0 © 3¢ ® 35
005. Sum of real and imaginary parts of the | 005. @ffisr @@ (complex number) z , S
complex number z which satisfies the fe=fafea g i g@g Hdl 2
following equation z — 1 + 2iz— i=0 is Z—1+2iz— i=0 o arEdfde 3 Shlcd-h
2 2 .
(A) 3 B) -3 T <1 I B
(©) 0 D) 1 A) 3 B -3
€ 0 D) 1
006. The modulus of v \/17 — 60 18 .
006. /13 — 6i T HITH (modulus) H
W ® 3 (A) 1 B /3
©) Vs D) V7
©) Vs D) V7
007. Let P, Q be n x n matrices. Let O and / be, | 007. HII 7 n x n 3R (matrix) P, O &1 AA
the zero and identity matrices of order n, 6 O 3 1 I 3YE (zero matrix)
respectively. Suppose P+ Q= [ and PQ=0 dom dcEHeh (identity matrix) &1 HT foh
Then which of the following options is P+Q=1Tand PO=0
always CORRECT? qa fa= fasedl § & 19 |1 Hed T 77
(A) PP+0°=0 B) P+Q'=1 (A) P'+0°=0 (B) P +Q =1
(C) PP—0°=0 (D) P —0Q'=1I (C) PP—0’=0 D) P -0 =1I
3-AA | [3] [ P.T.O.
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008. If the system of linear equations 008. e g gHteron & Ao (system of
[; 6? Z = [3} has infinitely many linear equations) ! _;t jz = g ED
solutions, then the possible values of ¢ are 3d & (infinit ely many solutions) i@y
(A) 0,-1 (B) 0,1 % FEATfad A (possible values) &1
©) 1,2 (D) 1,-2

X4 (A) 0,-1 (B) 0,1
PR €) 1,2 D) 1,-2
111 111
009. Ifdet|l1 2 8 |=0, then the values of ¢ are 009. JC (1 2 8|=0
1t 7 1t 7
(A) 1,2,3 B) 1,2,-3 o ¢ S 9H B
© 1,-2,3 (D) -1,2,3 (A) 1,2,3 B) 1,2,-3
© 1,-2,3 (b)) -1,2,3

010. The number of real solutions of the equation | 010. iR 2+ / 2x—3= / 3x+ 7
24+ /2x—3=/3x+7 is %Wﬁ?ﬂﬁ(realsolutions)%@%
(A) O B) 1 (A) O B) 1
©) 2 (D) 3 ©) 2 (D) 3

011. A root of the equation 011, T 2x=/2x+ 5 +1, 1 T 4
2x=42x+5+1, (root) fore wefientor 1 oft T I B
is also a root of the equation
(A) 2’ —x—1=0 (A) 2’ —x—1=0
(B) x —3x+2=0 (B) x —3x+2=0
(C) 2+ 5x—2=0 (C) 2’ +5x—2=0
(D) 2’ +3x—1=0 (D) 2’ +3x—1=0

3-AA | [4] [ Contd...
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012. Let gy, ay, a3,.... be an arithmetic progression | 012. HMHT & a,, ay, as, ... T THTA ot 1 8
with nonzero common difference. It is given ISR EAREICHC N (common difference) 3T j
z T 8 TR
that Z a;= 66 and a; = 8 for some k (Eonzero) 8l e 8
i=5
a,= 66 3 Tt k o fAT ¢, =8 a9 &
Then the value of & is i—ZS ¢
(A) 8 (B) 9 1AM 7
(C) 10 (D) 11 (A) 8 B) 9 (= W%'
(©) 10 D) 1 A
013. Let S be the set of all right angled triangles | ¢013. #mT f6 S 37 TUshU ﬁ*ﬂsﬁ (right angled
with integer sides forming consecutive terms triangles) 1 Toh T 7 el yoId T
of an arithmetic progression. The number of U Foft & AR 9 (consecutive terms )
triangles in S with perimeter less than 70 is SFTd 3| T S %3 ﬁg@ﬁ 6 g Tt
(A) 0 B) 1 9ff¥r (perimeter) 70 & &9 7, B
©) 3 D) 5 (A) 0 B) 1
©) 3 (D) 5
. . a— bcosx _ 1
014. Itis given that xh_f}”lo ? =5 014. femmn g fo
The value of a + b is ) _
lim 4=0e0sy _ L ag oy p o w2
(A) 0 B) 1 x—0 5
(A) 0 B) 1
©) 2 D) 3
©) 2 D) 3
015. The sum of intercepts on the axes of the | 015. dsh Jx+ «/; 2/7@ (3,3) T EIIRET
tangent to the curve +/x+,/y=2/3 at (tangent) o 37&Tl (axes) W Iq:TS
(3,3)is (intercepts) T I 8
(A) 4 B) 8 (A) 4 B) 8
©) 12 (D) 16 ©) 12 (D) 16
3-AA | [5] [ P.T.O.
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016. If f{x)= 5 x"— x then the function 016. 3f2 f(x)= 5 x"— x T HE function f
(A) increases monotonically in (- oo, 0) (A) (—,0) T fRa gemm
(B) decreases monotonically in (1, o) (increases monotonically) 8
(C) attains its maximum value at x =0 B) (1, )ﬁ it g/EH &
(D) attains its minimum value at x = 1 (C) x=09L I=TdH HIE YTed hIdl 3
A (D) x =1 " AH JTed LT 3
x+ 2, x<c¢
017.  If the function f(x)=1 | 017. 3If¢ % (function)
x =4 x>e x+ 2, x=<c
is continuous then the value of f(c) is J=1
A) 2 ®) 3 x —4 xX>c
gdd (continuous) 7, A9 f(c) T A B
©€) 4 D) 5
(A) 2 B) 3
€) 4 D) 5
018. Ifitis known that % (f(2x))=x",thenthe | 018. =fe 75 3@ 3 fh % (f@0)=x
value of /' (1) is qg £ (1) T A 8
1 1 1 1
A) 7 B) ¢ A) 7 B) ¢
1 1 1 1
© 17 D) 1¢ © 17 D) 1¢
019. The area enclosed by the curves X = 2y and | 019. dshi = 2y 3R y2 = 16x @ e ampet
32 =16x is (area) 2
31 32 31 32
(A) 73~ B) 3 (A) 73~ B) 3
34 35 34 35
© 3 D) 3~ © 3 D) 3~
3-AA | [6] [ Contd...
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020.

If [y] denotes the greatest integer less thanor | 020, afg y e R & &7 =T y & S TETH q;:ﬁ;g
equal to y for all y € R , then the value of the &Y A T BeAd bl [y] & fua T
integral T B Al \HTehe (integral )
e (L
S X |dx is S[x ]deIﬂ:{%
i
(A) 5+V3-V2 (A) 5+/3-y2
B) 5-/3+y2 B) 5-/3+/2
(C) 5+/3+42 ) 5+/3+42
D) 5-V/3-V2 D) 5-/3-/2
¢ dx . ¢ dx
021. The value of \ — is 021. S . HIAE 2
- + 1 - Slnx+ 1
A 5 (B)
A 2 B) =
©) 0 D) 1
<© 0 D) 1
sz/3 sz/3 57/3 57/3
022. 1t5= (e ar then (xe™aris | 022 TR Yo v | xe xR
7/3 7/3 /3 /3
T 27 i 27
(A) 37 B) FJ (A) 37 B) FJ
St
© °F; D) 7 © 5 D) 7
023. If the solution of the differential equation 023. ¢ 3Fahet HHIHT (differential equation)
dy dy 200+ k=0
X g 2(y + k)= 0 represents a family of o+ o=
parabola having vertex at (0, 0) and axis kil SFI et 6 B (family of
along the x-axis, then the value of k is parabola) forebr =i (0,0) M g x - 318
(A) 0 B) 1 T EN I FRUT AT R, T kB A &
() 2 (D) 3 (A) 0 B) 1
©) 2 (D) 3
3-AA | [7] [ P.T.O.
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024. The solution of the differential equation | 024. 3Tdehal GHIRUI (differential equation)
A 2xy % = y2 represents the family of O 2xy % = y2
curves given by the equation 1 EA 37 Thi h % (family of curves) £l
A) X+—k =k Fefid wtar & feh weferr &) e &
B) X+IK=Kk A) X+ -k =k
©C) =B’ +o-k'=kK B) x +kK=k
}\}:2 D) -k + ) =K ©) (x— k)z + ();— k)22= i
D) =k +y =k
025. A curve C is drawn such that the slope at a | 025. Ush dsh 38 i@ = S 8 o Teh 1%@
point P(x, y) is equal to % . Then the curve P(x,y) | foreht @1t % % SR | e a5k
represents a family of g ENl ol foiud =t 8
(A) circles (B) parabolas (A) Id (circles)
(C) ellipses (D) hyperbolas (B) 9T (parabolas)
©) aéﬁcl?f (ellipses)
(D) AT (hyperbolas)
026. Two pairs of straight lines 12x" — Xy — y2 =0 | 026. TIA @A (pairs of straight lines) % 1 g
and 3x” — 13xy + 4y2 = 0 represent 12x° — Xy — y2 =0 3N
(A) four distinct lines passing through 3’ — 13xy + 4y2 =0 refta o 3
the origin (A) ga fog & o aTeflt IR T -
(B) one common line and two other lines W@
parallel to each other (B) T 3WIE W (common line) qAT g
(C) one common line and two other lines AT Th E;Fﬁ % THHIG @MY (parallel
perpendicular to each other lines)
(D) one common line and two other lines at (C) TH 3IWAME @1 d91 T I Th Z:Hi |
an angle 60° to each other @eed W@ (perpendicular lines)
(D) Tk IWINE @1 91 q A WY TH
T T 60° % HITT T
3-AA] [8] [ Contd...
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027. A circle C passing through the origin | ¢27. I 1%@ T gt ﬂgpj el T I (circle) C,
intersects circles x +)° — 6x+8 =0 and Cll XAy —6x+8=03R
At y2 —2x—2y=7 orthogonally. Then e yz —2x—2y=7 &l RI=Ch)
the area of C is (orthogonally) sedT 2| d8 C 1 &% &
475 617 475 617
(A) 36 T (B) 36 T (A) 36 T (B) 36 ©
905 955 905 955
©) 36 7 (D) 36 7 ©) 36 T (D) 36 ©
028.  Acircle passing through points of intersection [ 028. Tsh Id C, ?fﬁ A y2 = 2x 3R
of circles x2+y2=2x and x° + y2= 2y and O y2= 2y%9ﬁﬁﬁ§ﬁ@ﬁw
its centre lies on the line x—y=2. The 2 AT ITHT shg @1 x—y=2 gl ag C R
radius of C is ERRI radlus) H
7
5 7 A
Wy ® 7 ™y e g
11 13
11 13 = =
©) /5 O 5 © v D) /3
2 ¢
029. Normals to the parabola y2 = 64x at points | 029 T ) = 64x ki fagP=(1,-8) 3 Q =
P=(1,-8) and Q = (4, 16) intersect at R . (4, 16) W 3rfirerest, R W gfdesg $d &1 R %
The coordinates of R are feréareh &1
1
@A (35,5)  ® @51 @A (355)  ® @5
(C) (15,3) D) (5, 4) ©) (15,3) D) &4
030. Ifthe line y= x + ¢ touches the ellipse 030. Ife @ y=x+tc Z‘ﬂﬁﬁ_ﬁ 257+ 3y2 =1l
2x2+3y2=1 , then the value of ¢ is 3 T B, O ¢ BT T 2|
5 4
A £/ B /3 B 1/ B /%
©) +,/> D) +./2 3 2
-V 4 -V 3 <) + 4 (D) =+ 3
3-AA | [9] [ P.T.O.
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031. The perpendicular bisector of the chord of 2 y2

Sy 031. SAfdRITH X
Y

the hyperbola - 1 1625
c eroola 77/ — Az — . .
yp 16 25 1 S foreent weafeg (5, 3) B, *1 ofwaa

fgursie (perpendicular bisector) &1
(A) 48x + 125y = 360

(B) 48x— 125y =230

(C) 48x+ 125y=615

(D) — 48x + 125y = 440

=1

whose midpoint (5, 3), is given by
(A) 48x + 125y =360

(B) 48x—125y=230

(C) 48x+ 125y=+615

(D) —48x + 125y =440

7:,

N

N

ZX

032. Ifa=3i+m—kandb=2i+ j+nk 032. AR a=3i+m—k b =2i+ j+nk

are orthogonal with \ a = b |, then 6(m+ n)
is equal to

(A) 3 B) 5

©) 6 (D) 12

Leta =4i — & + k,b =2i + j— 2k, and
¢ =3{—4j+ 12k . Then |(a X5 ) x¢ |

is equal to
(A) 250 (B) 300
(C) 400 (D) 500

Let ¢ be the unit vector perpendicular to
a=3i+ ]+ 2kand b =2i — 2} + 4k.

The angle between ¢ and i+j_ k is
c — 1
g ﬂ

@raad (orthogonal) 8 a1 |a |=|5 | @&
6(m + n) S 7

(A) 3 B) 5

©) 6 D) 12

oM 6 a=4i—-8j+kb=2i+]—2k
AR ¢=3i—4+12k. @@ [(axb)Xc|

(A) 250 (B) 300
(C) 400 (D) 500

o 6 ¢ U use Afew (unit vector) H
S oa=3i+]+2k I b=2—2/+ 4k N
a8l dd ¢ 3R i-’_]\/g—_k%aﬁ%{%‘[
I 2

1 1
@ s3] @ eostls) W s3] ® cos(3)
©) cos*1<%> (D) cosfl(%) (2 (3
(C) cos 1(3 > (D) cos 1(4)
3-AA | [10] [ Contd...
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03s.

If the area of the parallelogram determined

Ife |G (vectors) a = x(i + 2/ + 3k) 3N

035.
by the vectors a= x(i+ 2+ 31%) and b= x(—3i—2+ IQ) o Futfe s P
b = x(— 3i — 2j+ k) is 12+/5 units, then IqYsl (parallelogram) 1 &3%d (area) 12 o
| x| is equal to /5 SHE 2 a9 | x| M HAE R
A) 1 B) 2 (A) 1 (B) 2
<€ 3 (D) 4 ©) 3 (D) 4

036. If the sum of coefficients in the expansion | (3¢. afe (1 + x)" % JER (expansion ) ER =D
of (1 + x)" is 2048 then the difference in the f[WITﬁ (coefficients) T T 2048 2 A9 7 &
coefficients of 7t and 3 terms is A 3dUE & ’J’UI'ITﬁ T AT (difference) 2
(A) 407 (B) 398 (A) 407 (B) 398
(©) 315 (D) 276 (C) 315 (D) 276

037. If the coefficient of x3 in the expansion of 037. 3fe .

2 50 2 0
X
<1+1v+2|+ +50'> <1+1'+2'+"'+50‘)
is 7', and the coefficient of x* in the & TER T x3 H }!UI'IEB T, 3R
2 00 3 ) 100 \3
expansion of (1 Tt art -t qoor ) (1 it %—i‘ "'+—IXOO! )
is T, then 7/T; is % GO H x4 1O T, B, 99 /T, @
3\ 4y
@ (7 ® (3 3y 4y
5] (3] w(z)  ® (5)
© () o (3 4y 3 )
© (%) ® (3)

038. Four cards are drawn at random without | 938 52 TRl 61 7= e T Tt T A H W
replacement from a well shuffled deck of 52 ferm fa fe T 2 e S &
cards. The probability that 2 cards are red is I (probability) ?

325 225
325 225 BERE EZ)
A) 353 B) 33 (A) 833 (B) 733
125 25
125 25 REDA a9
©) 433 D) {33 © 433 D) 133
3-AA | [11] [ P.T.O.
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039.

A biased coin has probability of coming | 039, we fmq (biased) s % == (head)

up heads as % It is tossed three times. At I TRehar (probability) % 2| Gh!

the same time an unbiased dice is tossed T IR 3IBTAT 1T 2| I gHY Uk IHREG
> independently. Then the probability that the (unbiased ) 9TET EGT €9 H Hehl ATAT 2| UTH
g number on the dice is less than the number of gt o (head) 319 6 @ @ &0 814

P heads is sl TTRRdT (probability) &

A 33 B) &1 a 2 B &

© g1 ) g1 © %1 D &

040. Two tanks 7, and 7, bomb a target in | 040. <2 I T, 3R T, Th @&d W TH & e
succession. The probabilities of hitting the Tk o9 thehd 3l T, 3R T, & fou deg =
target are 0.3 and 0.4 respectively for T AT <kl UTReRdTe shHe: 0.3 3 0.4 8 | &
and T,. The tank T, will attempt only if T, T, had a¥ft T AN TG 7, A& " T
misses the target. Then the probability that I | d9 AT 5 T, g/l TR S bl IRk
the target is hit by 7', is (probability) &

(A) 0.12 (B) 0.28 (A) 0.12 (B) 0.28
(C) 0.18 (D) 0.42 (C) 0.18 (D) 0.42

041. Probability that a doctor diagnoses a disease | 041, Ueh Sl CN Th SHE 1 T@l FeH
correctly is 0.6. The probability that the (diagnoses) & sl TTRRaT (probability)
patient dies by his/her treatment after correct 0.6 21 39% A ¥ T fem & o Uit
diagnosis is 0.3 and the probability of death &% 7 hl IiResdr 0.3 2 3R Tad fem 9
by wrong diagnosis is 0.7. A patient of the Iy ) TIReRdT 0.7 31 SiFel o Ueh HOS h
doctor who had the disease dies. Then the S ¥ Ug 7 S 8| q9 Siael 4 el FHeH
probably that the doctor diagnosed correctly Toram o gEehl WTRehdt 3
s 3 (A) 5 B 15
* » ) N © 1% D) 15
© 13 D) 13

3-AA | [12] [ Contd...
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cos 134— cos94 + cosA4 — cos 54 cos 134— cos94 + cosA — cos 54 S
042. Thevalue G = Gisr s inod —sin134 | "% sind—sin5A+ sin94 —sin 134 ¥ 77 & 2
is
(A) tan24 (B) tand4
(A) tan24 (B) tand4
(C) cot24 (D) cotd44
(C) cot24 (D) cotd44
. T T
043. The sum of all solutions of the equations | 043. HHIRTT tan20 = cotd % 3Fele [_j,j]ﬁ
tan20 = cotb in the interval [— % , %] 18 aoft tg’ﬁ EARILES
2 ) 5 ® 5
A 3 B) 5 3 2
T
C) = D) 0
© % ®) 0 s >
044. If the sides a, b, ¢ of a triangle ABC are in | 044 afe wh BYS ABC s YT 4, b, ¢ FHIAH it
arithmetic progression then LRAE
A B C 2
(A) cot%, cotg, cot% are in arithmetic (A) cot5, cots, coty FHIR groft
progression (arithmetic progression) T8
A4 otZ cotE arei : B) cot, cot, cot$ Toirem Aof
(B) cot5-, cot-, cot5 are in geometric cots-, cots, cols
progression (geometric progression) ¥ &
A B C . .
©) cot5-, cot-, cot>- are in harmonic ) cot%, cotg, cot% e St
progression -
(harmonic progression) T %
A C _ B
(D) coty- —cot- = 2cot>- 4 C B
(D) cots —cots = 2cot7
045. The smallest angle of the triangle with sides | 045. Bﬂja ISEED HGlTQ 3,5,7 2 1 gad BT Bl
3,5,7is 2
(11 . _1( 6 (11 . 1( 6
(A) cos 1<ﬁ> (B) sin 1(7> (A) cos 1<ﬁ> (B) sin 1(7>
(13 . _1(13 (13 . _1(13
(C) cos 1<ﬁ> (D) sin 1(T> (C) cos 1<ﬁ> (D) sin 1(1—>
3-AA | [13 ] [ P.T.O.

‘\?.\“21
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The angles of depression to the top and base
of a tower from the top of a hill of height 30
meter are 30° and 60° respectively. Then the
height of the tower (in meters) is

(A) 10 (B) 20

(C) 30 (D) 40

A ball is thrown vertically upwards from the
top of a tower of height 24.5 meters with the
initial velocity 19.6 m/s%. The time it will
take to reach the earth is

(assume g = 9.8 m/s?)

(A) 4seconds (B) 5 seconds

(C) 10seconds (D) 12 seconds

A particle moving at constant acceleration
travels 272 meters in 4 seconds. Then
acceleration becomes zero and it travels 528
meters in next 4 seconds. The initial velocity
of the particle is

(A) 2m/s (B) 4m/s

(C) 6m/s (D) 8m/s

Three forces P , §, R ,are acting at a point
in plane. If the angle between P and § is
120° whereas the angle between § and R is
150° then for the equilibrium, magnitude P,
O, R of the forces are in the ratio

(A) 1:2:4/3 (B) 1:2:3

€ 1:/2:3 (D) 1:43:2

The magnitude of the resultant of the two forces
each equal to 2N inclined at angle 120° is

(A) 1IN B) 2N

(©) 3N (D) 4N

Teh 30 Hiet et fopet wgrel it =t @ Tt
MR & T Td 9e & ITEIHT HI HA:
3037 3R 60371 2| 1 AR T HaTE 7

(A) 10 (B) 20

(C) 30 (D) 40

24.5 HX Hefl HHAR I A | TH TG hl
19.6 m/s? o o & SR 6T AR (vertically)
TheR! TAT | IH Yl % Uge W O el
T 7 (AT T g = 9.8 m/s?)

(A) 4seconds (B) 5 seconds

(C) 10seconds (D) 12 seconds

T HU (particle) IR Ths dh Teh TAM
T (acceleration) ¥ ToidT & 3T 272 Hiex
ST 81 A9 RO AY /1 S 2 SR I 4
Tehg | 528 Tt ST 81 YT 1 AR A7
(initial velocity) &

(A) 2m/s B) 4m/s

(C) 6m/s (D) 8m/s

e P, 0, R U Todd H Ush folg W T
® 81 g P 3R 0 % s & w0 120° 7
Safeh P 3 O o e o1 I 150° 7 8
TgeH (equilibrium) & fofu, s o qimmT
P, O, R 5| 3/ quma & 2

(A) 1:2:/3 (B) 1:2:3

€ 1:/2:3 (D) 1:43:2

@ F (two forces) T 2N o &R & AT
T GER o |1F 120° T gFeh & o IO 5
SR IHATT (magnitude) H

(A) 1N (B) 2N

(C) 3N (D) 4N

3-AA | [14] [ Contd...

gcollegeduniag



051. Count the no of surfaces of the figure given | ¢51. faf3g aLq H gagl 1 it sam)
below:
(A) 10 (B) 13 (A) 10 B) 13
(C) 15 (D) 14 (C) 15 (D) 14
052. Out of the five given pieces in (X), which | 052. fa3 X’ 7 fou ™ \?ﬂo‘sﬁ g o fe=i d 9 @
form can be formed from (1) (2) (3) (4)? SR ST kT 2
= =
(EH [DDO[D (EH [TDO[D
X) Mm@ 6 @ X) Mm@ 6 @
(A) 1 B) 2 (A) 1 B) 2
© 3 (D) 4 © 3 (D) 4
053. Select the best figure alternative which would | 053. ‘D’ % T R %A @1 o i @)
rightly replace (?) sign in ‘D’.
=k
" NS e A B c D
A B C D (_ /\
\/ 1 2 3
1 2 3 (A) 1 B) 2
(A) 1 B) 2 © 3 (D) 4
©) 3 (D) 4
3-AA | [15] [ P.T.O.

\{\t\/
A

\4\2
B
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VN
AN
B3
Q2
AL 054,  Identify the famous fort from the pictu fr
§ﬁ§§~_% . entify the famous fort from the picture. 054. A el ) gEahR |
AT

A2
e\
B3
A
A2
DTN
AN

S (A) Jodhpur Fort (B) ~ Gwalior fort (A) U e (B)  Tanforr fohem
(C) LalQila (D) Amer fort (C) & fhelm (D) TR femem

055. Identify the world-famous monument in the 055. T @ v fava yfug Tmes = gt

picture below:

(A) Colosseum
(B) Milan Cathedral
(C) Castle Howard
(D) Notre Dame

3-AA | [16] [ Contd...
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056. Identify the famous Architect in the picture | (5.

below.

S0

(A) Charles Correa
(B) Anant Raje

(C) B.V.Joshi

(D) Hasmukh C. Patel

057. Find the alternative image containing the | (57,

figure (X) as its part
=100 L
mpil = e )
(X) 12 3 4 (X) 1 2 3 4
A) 1 B) 2 A) 1 (B) 2
©) 3 (D) 4 (C) 3 (D) 4

058. Name the defense wall of a castle normally | 58, forefl forct & s=a & foru o+t geer <hi e

built in stone T H g |
(A) Trombe Wall (B) Moat (A) 3 dad (B) HIE
(C) Rampart (D) Bastion (C) W (D) a%H
3-AA| [17] [ P.T.O.
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059. Select the appropriate option which may | 059, 47 34-@&[ UEAIE S @l €&F W 3
complete the figure matrix? T
¢ [-o|-o ®|-o|-o
Jlake ¢ o]
¢ |02 o e |?
o6 oo o |- |-o|-o
M 2 @ @ M @ @ @
A) 1 B) 2 A) 1 (B) 2
©) 3 (D) 4 (C) 3 (D) 4
060. Identify the architectural symbol below: 060. = T fomr fopa <t aregfadi fomg B1
¢ $
3 R E
(A) Door (B) Window (A) TET B) faeh
(C) Wardrobe (D) Wall (C) e (D) dar
061. Sun Temple Modhera belongs to which | 061. ﬁéﬂﬁ?ﬁfﬁﬁ(ﬁﬁﬁﬂﬁﬁwml
dynasty? (A) =T TS
(A) Chola Dynasty (B) WW
(B) Pallava Dynasty ©) WW
(C) Chaulukya Dynasty (D) Tiea .
(D) Pandava Dynasty
3 )
062. Granite is: 062. Fem SRR 61 e 8
(A) Calcareous rock (A)
(B) Metamorphic rock (B) e
(C) Sedimentary rock © ﬁélﬁ"i'
(D) Igneous rock (D) IR
3-AA | [18] [ Contd...
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063. Identify the 2D drawing of the illustrated 3D | 063, fuzr & fe@@ 3D 34-@&[ &1 g8t 2D 34-@&[

problem figure: CREIED!
Problem Problem
Figure Answer Figures Figure Answer Figures ZAVZ
& | L% & o | L% 3
N
A
A ® © (D A ® © O g
PAYAY
064. Identify the bridge in the picture below. 064. Tot @ fem o qa wg=nt

(A) Hawai Jhula (A) FCIE Bl

(B) Great bridge of India (B) YN <kl HgH Jd
(C) London bridge (C) e g

(D) Bandra — Worli Sea Link (D) STeT ottt g

065.  Anerror2%inexcessismade whilemeasuring | 065, s ¥9 TGS b T4 T 2% hi Teid! & 35

the side of a square. The percentage of error &ABA U Toha-t TTerdt B
in the calculated area of the square is: (A) 4.04% B) 2%
(A) 4.04% B) 2% (C) 2.02% D) 4%
(©) 2.02% (D) 4%
3-AA| [19] [ P.T.O.
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066. Identify the figure which is odd from rest of | (g6. o= o o Ga@ 31T TR I g
the figures
Av02
FI \9 Q 8 1 2 3 4
1 2 3 4 (A) 1 (B) 2
A) 1 B) 2 ©) 3 (D) 4
©) 3 (D) 4
067. TUeh 39 fohleh I 87
067. An Inch equals. (A) 2.54 cm (B) 5cm
(A) 2.54 cm (B) Scm (C) 20 mm (D) 15.67 mm
(C) 20 mm (D) 15.67 mm
068. Name the Architect to receive Padma Award | 068, 2019 # foret amegfarg 3 v=m Qe yTed feham|
2019 ? (A) <t =&, qrsft
(A) B.V.Doshi (B) fomat wea
(B) Bimal Patel (C) T et
(C) Nari Gandhi (D) Rt ITed afam
(D) Christopher Charles Benninger
069. How many A2 sheets can be cut from a A0 | 069, T AQ AT & HIS H fehdd A2 AT & HITS
sheet of paper. e I Fhd 2l
(A) 5 B) 4 (A) 5 (B) 4
©) 16 D) 8 (C) 16 (D) 8
3-AA | [20] [ Contd...
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070. Identify the building 070.
(A) Sydney Opera House
(B) Bahai house of worship (B) wETg ESUREE]
(C) Guggenheim Museum (C) TAf=m wuger™
(D) Temple of Karnak (D) HRATH T TfeT
071. Gol Gumbazis a 071. A TS Toh
(A) Mosque (B) Mausoleum (A) HAfedg 3 (B) Tl B
(C) Museum (D) Monastery (C) I W g (D) HHET R
072. Identify the Temple 072. HfeT =l gg=-R
(A) Brihadeshwara Temple (A) fogever wf
(B) Nageshwar Temple (B) ANIYaR AT
(C) Bodhi Temple (C) et Hfex
(D) Kandariya Mahadev Temple (D) “heTian HeTed Hfe
3-AA] [ 21 1 [ P.T.O.

o7
2
oAU

%

DA \;\;
12

TN

2
N7
A
o]
PAAR
PV

2
N7
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AN
AN
o
YA
N .
2328 073. These tiles are better used for
A
DA
AN
S
YA
P
A
DA
AN
S
YA

(A) Bathroom  (B) Lounge (A) Teen (B) W=

(C) Pavement (D) Road (C) Uamie (D) weh
074. Kota stone is 074. <hI<T TI9 1 TT 4T gdT 2

(A) Black (B)  White (A) HTel (B) Hthe

(C) Spotted (D) Green (C) THER (D) @'
075. Identify the temple 075. e yg=naa

(A) Kedarnath Temple (A) wheraTy Tt

(B) Kailash Temple (B) harer Tfg
(C) Lingraja Temple (C) forms ufex
(D) Shore Temple (D) ¥R Af
3-AA | [22] [ Contd...
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076.

077.

078.

If the paper is folded along the dotted lines
and punched as shown in the picture, identify

the picture that would appear after unfolding it.

(o]
o o
(o] o ° (o] (] Q|0
(o] o (o] (o] (e][e]
(o] o (o) o o
o i ole o [e][e]
a b c d
(A) a B) b
©) ¢ D) d

What material is used for Meenakshi Temple?
(A) Laterite (B)
(C) Granite (D)

Sand Stone

Brick Masonry

Identify the building shown

(A) Basilica of Bom Jesus, Goa
(B) St. Cathedral, Goa
(C) St Aloysius Chapel, Managlore

(D) Jewish museum, Cochin

oz}
2%
oAU

N
>

D7

7%

N7

076. 3T T FTA Pl BT T ST T IR
femmy fom & sen ffz fen s @ aw 3
G T KT T E
P
§
[Z \
° S
° R
® AT
ZNVZN
2 . olo olo BABA
© ° ole olo
o o] (o] lo) °
e ole o ole
a b ¢ d
(A) a (B) b
©€) ¢ D) d
077. e dfer & s T fhE Teer w1 =
IERIRIE IR
(A) T (B) e wH
(C) e (D) 32 o T8
078. = f& wa 1 vl

z I
=4 =

(A) Afgferer sig fraw, men
(B) T< hustd M
(C) Te TATHT® =uel HTeiR

(D) S IR S

3-AA |

[23]

[ P.T.O.
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PP

PARYZX \
SR
PAYA
5%
V‘-“ o.A\\

%
<y
S
o
BB
PP
AV
PP
BAEA
Sy
AP
ST
e
BB
PR
Ay
PP
BB

079. Identify the award given to the Architect | 79, <= feu 7o DR Sl =T NRE=ALE fire
below
(A) Ao GERR
(A) Nobel Prize Winner (B) 3TEhT TEHR
(B) Oscar Award Winner (C) ad\s]ch{ JU&hR
(C) Pritzker Prize Winner (D) TXfer LRI
(D) Stirling Prize Winner
080. Identify the number of oblique surfaces 080. fo= 1 o<t Tag! shl &1 yg=n|
(A) 4 B) 3 (A) 4 (B) 3
©) 6 D) 7 (C) 6 D) 7
081. Gandhi Labor Institute Ahmadabad was | (81. Teft oe® gEAfege % ITHR HT A 7
designed by (A) TSI TS
(A) Satish Gujral (B) =™ il
(B) Charles Correa (C) AftF Bt
(C) Norman Foster (D) fi. oft. geft
(D) B. V. Doshi
3-AA] [24] [ Contd...
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082. Which ofthe following is a wide four centered
arch with a pointed apex?

(A) Tudor Arch

(B) Lancet Arch

(C) Horseshoe Arch

(D) Ogee Arch

083.

From the answer figures, identify the one

which cannot be placed in the problem figure.

082.

083.

=1 4 9 fopm o1 & =R g 991 Uk fIReR

B 3 >
(A) SIS 3
(B) o8 A
(C) &E 3 37
(D) 3Si 3T

NN

I % fom 4 oy 7w gy ol @ e e
AT % o5 H &1 RS Gl 2|

o= UL A~ 1
a b c d a b c d
(A) a B) b (A) a B) b
©) ¢ D) d ©) ¢ (D) d
084. Select Elevation from Arrow Side 084. To=1 o it 1 =7 & e fewm

g

g

a b c d
(A) a
©) C

b
d

(B)
(D)

a b c d
(A) a
(©) C

b
d

(B)
(D)

3-AA ] [25]

[ P.T.O.
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Z4
’i;’ 085. Identify the figure next in sequence: 085. T o & s A la-T1 foxr eem

B (R(D? | B (E?
HEEHD GO

(A) a B) b (A) a B) b
€) ¢ D) d €) ¢ D) d

086. Minimum width of main door is 086. T LA ! =[JaH ATeTg 1 BIcll 7
(A) 3ft (B) 3 ft6inches (A) 3ft (B) 3 ft6inches
(C) 2ft6inches (D) 4ft (C) 2ft6inches (D) 4ft

087. How the Figure shall appear from the arrow | 087. = fo dfiv <t AR | har fegm|

side
! |

a b

a b
c d

C d

(A) a B) b (A) @ (E) z

©) ¢ O d ©) ¢ (D)

3-AA] [26] [ Contd...
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PV
AN
B
PASYAN

088. Mera was born on March 6, 1993. The same | 088. i <1 =9 6 4= 1993 =i goTT| 3T& a9 @}@/\:
Py

YA

year Independence Day was celebrated on T fead gaar st g | HiU o S P
Sunday. On which day Mera was born? 1 ot aaTey P
S5

(A) Friday (B) Saturday (A) TR (B) wfEm (et

(C) Monday (D) Tuesday (C) OHaR (D) TR EQ}:@
S
DA
NN
AT

089. Identify the building given below 089. =1 waa &l =i | iﬁ@ﬁ@

'l 1
i ==
- 5
(A) Akbar’s Tomb (A) 3Tehe T Hhal
(B) Bibi ka Magbara (B) CICIC IR CSE
(C) Taj Mahal (C) drSHgaA
(D) Jehangir’s Tomb (D) TR T Hehalll
090. Count the number of vertices 090. T & 1 yg=nf=
(A) 3 B) 5 (A) 3 B) 5
© 7 D) 6 (C) 7 D) 6
3-AA | [27] [ P.T.O.
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s
T\
NP

ST

2N

\ 220 A0

091.  Identify the Logo 091. T & gdtes famg i Tg=|
(A) Danone; (B) Starbucks; (A) SHE (B) WR %
(C) Lego (D) Mitsubishi (C) <fm (D) Toagfers
092. Insert the correct missing number from the | (92, w@Wrelt & i T w1 T R
choices given below.
/7\ 7
? 15 ? 15
127 31 127 31
(A) 190 B) 221 (A) 190 (B) 221
(C) 236 (D) 255 (C) 236 (D) 255
3-AA| [28] [ Contd...
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093. Which option shows the Correct view in the | 093. R i 3R § i A1 o T&l B
direction of arrow []
b |— a b
a ,—
|_ c d
c d
A B) b
* 2 ®) b i )
€ ¢ D) d
©€) ¢ D) d
094. R.C.C stands for 094.  STRFHLHL. %I’% B
(A) reinforced cement concrete (A) i P13 HiHe bl
(B) refined cement concrete (B) Nwrgs #iH=e Hshie
(C) rejoining cement concrete ©) fisarse Hiu=e Hshie
(D) none of these (D) IS &l
095.  Find the material for which the symbol belongs | (95, 1%;..—,5» T ST 2
(A) Stone Wood (A) e
(C) Brick (D) Plastic ©) & (D) WT@%
096. Inarow, 25 trees are planted at equal distance .
096. AT H 25 94 SR gt W @Y T 7|
from each other. The distance between 15 o " k aﬁ ’ 8
T
and 25™ tree is 30 m .What is the distance wEe qT 25 kS K E;{CT 30 iz 71 3% qo
between 3'4 and 15t tree? 15t L Edl aﬁ SN
(A) 8m (B) 15m (A) 8m (B) I5Sm
(C) 16m (D) 18m (C) lém (D) 18m
3-AA | [29] [ P.T.O.

\{\t\/
A

\4\2
B
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7
"',' 097.  Asolid cube is made using 64 small cubes. In | 97, w I 64 =ard I TeretreRt o1 2| fohae B1e

how many small cubes two sides are seen? ERC Ee| qg@ﬁ@rg ull
(A) 24; B) 32 (A) 24 (B) 32
(C) 40; (D) 42 (C) 40 (D) 42

> 098. Identify the isometric view of the given | (9§, ﬁ'@mqg@gﬁﬁqﬁqm yTa!;[ﬁaﬁTm

figure?
Top

Top |
A Front Side

Front Side @ @ @ @

@ @ @ @ (A) (B) ©) D)
(A) (B) © (D)
099. What is the name of tall building? 099. = § 231U 39 9o T 919 o= 8 7

(A) The Gherkin

(B) Taipei 101 (B) dmsus 101
(C) Chrysler Building (C) Tshoer wed
(D) Space Needle (D) g e
3-AA ] [30] [ Contd...
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100.  Which of the following figure is the correct | 100, < @1 fox fe@m fom =1 & yfafars 27
mirror image of the given figure?
(A) (A)
(B) (B)
©) ©)
(D) (D)
3-AA | [31] [ P.T.O.

DN
YA
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NN
oAb
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2
Nz

N
SPACE FOR ROUGH WORK / &=a &®™ & o g S
RPK
%

RS ZRES
NN S

DR ool Ne

S\ 2N

o] o]
DZNVZN

YA YA
N7 7

2\

oA NZD
1AZ

74
P
%4

K

P

4

;f 7
VAN
\?i%&:%f

\

N%«z—i

%:%\\c‘\'i%

7 ‘t‘:
Do
PAN

%
Z
208

DAYZN DAVA

3-AA ] [32]
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